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Ve AL RN

EFRAS R RS
20194 6 H
YE& AE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETREN AR EE)
(A 2.277 0.002 - 0.092 0.009 &
LA i 1.512 0.003 - 0.449 0.059 =
Z/LE (HCD 4.545 0.004 - 0.175 0.121 y=3
mIbE (HF) 0.306 0.002 - 0.074 0.041 =
— &b (SO2) 15.147 0.011 - 8.013 2.177 =
—4& kbR (CO) 7.578 0.000 - 0.109 0.027 =
HELY (NOx)
DSBS (NOY) 30.303 0.997 - 11.142 3.154 =
s E
(b) BN - HIME (HEFRENAGEE)
(A 0.756 0.005 - 0.012 0.009 &
LA 0.756 0.025 - 0.131 0.058 =
#F/bE (HCI) 0.756 0.070 - 0.150 0.121 s
wAbE (HF) 0.072 0.021 - 0.052 0.041 s
&R (SO2) 3.789 1.252 - 2.681 2.183 =
—&Ei% (CO) 3.789 0.006 - 0.048 0.027 =
HAY (NOx)
DL=%AEE (NO2) 15.147 1.611 - 5.244 3.182 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) =ED)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.0051 &
IR R g ) 7.575 x 107 <5.734 x 1010 =




Ve AL RN

EFRAS R RS
20194 6 H
Y& BE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETREN AR EE)
(A 2.277 0.001 - 0.010 0.002 &
LA i 1.512 0.014 - 0.416 0.053 =
(L& (HCI) 4,545 0.022 - 0.097 0.069 =
mIbE (HF) 0.306 0.009 - 0.061 0.035 s
— &b (SO2) 15.147 0.121 - 2.649 1.755 =
—4& kbR (CO) 7.578 0.000 - 0.054 0.021 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.501 - 4.387 1.850 =
s E
(b) BN - HIME (HEFRENAGEE)
(A 0.756 0.001 - 0.002 0.002 &
LA 0.756 0.033-0.108 0.052 =
/L4, (HCD 0.756 0.055 - 0.083 0.069 =
wAbE (HF) 0.072 0.026 - 0.040 0.035 s
— &b (SO2) 3.789 1.425 - 2.077 1.756 =
—&Ei% (CO) 3.789 0.011 - 0.034 0.021 =
HAY (NOx)
DL E/EE (NOY) 15.147 1.066 - 2.677 1.852 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
K 0.003789 0.0007 =
S SE VAR 0.003789 <0.0013 =
R A 0.0378 <0.0057 &
IR R g ) 7.575 x 10°° <6.419 x 1010 &
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EFRAS R RS
20194 6 H
Y& BF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETREN AR EE)
(DA 2.277 0.002 - 0.122 0.004 &
LA i 1.512 0.003 - 0.310 0.047 =
(L& (HCI) 4,545 0.008 - 0.093 0.067 =
mIbE (HF) 0.306 0.002 - 0.053 0.027 s
— &b (SO2) 15.147 0.010 - 3.594 1.643 =
—4& kbR (CO) 7.578 0.000 - 0.104 0.047 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.350 - 5.079 1.321 =
s E
(b) BN - HIME (HEFRENAGEE)
(A 0.756 0.002 - 0.013 0.004 &
LA 0.756 0.026 - 0.088 0.047 =
#F/bE (HCI) 0.756 0.044 - 0.081 0.067 s
wAbE (HF) 0.072 0.016 - 0.035 0.027 s
&R (SO2) 3.789 1.415 - 1.877 1.643 =
—&Ei% (CO) 3.789 0.025 - 0.074 0.048 =
HAY (NOx)
DL=%AEE (NO2) 15.147 0.703 - 2.972 1.317 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0013 =
R A 0.0378 <0.0057 &
IR R g ) 7.575 x 107 <6.461 x 1010 =
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